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1978

1978

1983

1985

1987

1988

1988

1991

1994

1995

1997

1997
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2001

2003
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pp.749 750 [1999.9-10
Pp569 570 20009
pp773 776 20013
pp.787 788 |20023
18 pp187 196 [1962
50 pp205 214 [1994
ASJ RTN-Model 2003 60 pp281 324 12004
37 6 ppl 10 2001
29 4 pp3 10 2000.12
29 4 ppll 15 200012
35 2 pp48 53 20066
15 4 pp40 43 1991
26 3 ppl44 146 20026
26 3 pp.147 151 |20026
26 3 pp.152 157 |20026
26 3 pp.158 168 |2002.6
26 3 pp169 173 20026
26 3 ppl74 177 |20026
26 3 pp.178 183 |20026
26 3 pp184 187 |20026
26 3 pp.188 194 20026
26 3 pp.195 198 |20026
30 2 pp.127 131 |2006.4
30 4 Pp.282 2006.4
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10dB

(Laeg.a)

(LAeq,b)

(LAeq,c)

(LAeq,d)

(LAeq,e)




(LAeq,a) (LAeq,b) 10dB

(Lnear) (Lheaa)
LAeq,b 60d B LAeq,a d B
+ 1dB dB daB (LAeq, )
(LAeq,a) (LAeq,b) dB
(LAeq,a)
(Lnego) (Facao
I—Aeq,a I—Aeq,b 10 LAeq,c I-Aeq,a
10 Lacga Lacgs Lyeqe =1010g,, (1050 ~10"=+/)
- dB
dB (Laeg,) (Laeg)

(lregd | (pegn) | (Lnegod | * 1dB - -
10 70 60 69.5 (69, 71) (68.4, 70.6) 2.2
9 69 60 68.4 (68, 70) (67.3, 69.5) 2.2
8 68 60 67.3 (67, 69) (66.0, 68.4) 2.4
7 67 60 66.0 (66, 68) (64.7, 67.3) 2.6
6 66 60 64.7 (65, 67) (63.4, 66.0) 2.6
5 65 60 63.4 (64, 66) (61.8, 64.7) 29

dB LAeq‘a LAeq‘b dB

I—Aeq,c LAeq,a LAeq,b

LAeq‘a + 1dB LAeq‘a + 1dB

LAeq‘C LAeq,C + 1dB LAeq‘b

I—Aeq,c LAeq,c
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( 10dB
40 45 50 55 60
30 im 0.6m 0.4 0.2 0.1
35 2m im 0.6m 0.2 0.2
40 4m 2m im im 0.6
45 6m 4m 2m im im
50 10m 6m 4m 2m im
55 18m 10m 6m 4m 2m
60 32m 18m 10m 6m 4m
65 57m 32m 18m 10m 6m
70 100m 57m 32m 18m 10m
75 178 100m 57m 32m 18m
80 317 178 100m 57m 32m
85 563 317 178 100m 57m
20 1,000 563 317 178 100m
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T
AL ,qx =10l0g,, sz
x1
T (9] 57,600 [s] 28,800 [s]
T i [s]
Loai i [dB]

Ty pa! — T, Lpa /10
Lpeq x = 10100y (? 10" 10) =10l0g,, —* +10log;, 10

L =L

Aeq, X Aeg,x, I—Aeq, X1

TXz TX1
= 1O|Og10 ? —1O|Og10 ?

—

Xa

TX

1

=10log,,
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dB

0.51 0.97 1.38 1.76 2.11 2.43 2.73 3.01
0.46 0.87 1.25 1.60 1.92 2.22 2.50
10 0.41 0.79 1.14 1.46 1.76 2.04
11 0.38 0.73 1.05 1.35 1.63
12 0.35 0.67 0.97 1.25
13 0.32 0.62 0.90
14 0.30 0.58
15 0.28
dB
3.01 4.77 6.02 6.99 7.78 8.45 9.03
1.76 3.01 3.98 4.77 5.44 6.02
1.25 2.22 3.01 3.68 4.26
0.97 1.76 2.43 3.01
0.79 1.46 2.04
0.67 1.25
0.58
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r, O
Loni i [dB]
Lova A [dB]
i _ [m]
ALy i [dB]
ALg i [dB]
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ASJ RTN-Model 2003
A LWA =1O|OglO[ —lZJ
A
P N- - At
Lwas _10|0910[ ,Alz : TT j
Pa A (W]
Nr T[s [ ] At
1 [s]
n
1 A Lwas =Lwa s —10logo(n)
A
Lai = Lwas —8—20logyq(r )+ Alg; + ALg;
r: i
[m] A Lg: [dB]
A Ly [dB]
n .
A LA =10l Oglo[z:l.OLA’l /1OJ
i=1
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10

10

90 kg

10

10

90 kg

10

10

10

10

10

(&)

(&)

140

W1000x L800x H1700

500 kg

50 kg

W1000x L800x H1700

500 kg

50 kg

W1000x L800x H1700

300 kg

27 kg
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90 kg
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1m/s

21T

211

x 3
B&K Pulse
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300

x 10

N

_

B&K Pulse

6.86m

N

-~

7.80m

1m

B&K Pulse

6.86

x 10
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D
2)

RION NL-02x

B&K Pulse

RION NL-04x

X

RION NL-06x

B&K Pulse
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B&K Pulse

125 ms

B&K Pulse




Im

L Amax

[dB] [dB] [dB] [dB] [dB]
10 68.2 18 68.6 708 65.7
10 89.9 22 90.3 92.3 85.6
90kg 10 811 26 817 85.2 76.9
10 86.9 23 875 90.8 83.6
90kg 10 82.5 2.8 833 86.3 784

L e L ae

[dB] [dB] [dB] [dB] [dB]
10 65.2 14 654 672 63.3
10 82.8 14 83.0 845 80.3
90kg 10 730 24 736 76.6 69.5
10 80.8 15 81.0 825 785
90kg 10 758 26 764 79.1 714

20dB
2 3dB
90 kg
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y=-alog,, x+b

X [m] vy [dB]
L Amax
[y=alog,o(x)+b] [03a]
10 y = -16.110g,4(X) + 68.4 438
10 y = -17.9l0gy(X) + 90.1 5.4
90kg 10 y = -17.6l0g54(X) + 81 53
10 y = -17.8l0gy4(X) + 87.1 5.3
90kg 10 y = -19.2l0g,,(X) + 82.3 5.8
L Aeq ) LAE
[y=alog,o(x)+b] [03a]
10 y = -16.6l00y,(X) + 65.4 5
10 y = -18.0l0gy,(X) + 83.0 5.4
90kg 10 y = -17.0l0g34(X) + 73.0 5.1
10 y = -17.710034(X) + 81.0 5.3
90kg 10 y = -19.210055(X) + 75.6 5.8
0.3a=6

y = -20log10(x)
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Hz]
Hz] 1] 2] 3] 4] 5] el 7[ 8l 9l 10
10 2k 2K[ 2k[ 2K 2K 2K 2k 2K[ 2K[ 2K[ 2K
10 2k, 4k 4k) 4kl 4k] 4k| 2k] 2k|] 2k] 2k|] 2k| 4K
90kg 10 K ak| ak] k] ak] Ak Ak Akl gk Ak Ak
10 4k Ak) 4kl 2k)4k|  2K) 4k 4k) Ak 4k] 4k
90kg 10 2k K| 2k] o 2k] o 2k] 4kl 2k 2_kI Akf:2k] 4k
LAw LAE
Hz]
Hz] 1 2 3 4 5 6 7 8 9] 10
10 2k K| 2k 2k 2k 2kl 2k 2k 2k] e 2k] 2
10 K akl ak] k] gk ok gk ok 2k 2k
90kg 10 4k Ak)AKk| o Ak) Ak AKL Ak 4K Ak 4k 4k
10 4k 4K Ak Ak Ak 2K) Ak AK) Ak Ak Ak
90kg 10 2k 2k okl okl k] 2kl okl 2k]  4k| 2k 4K
90 kg
2 kHz 4 kHz
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12 3 5:00 8:00

5:00 5:30
5:40 5:50
550 6:30 +

m/s

Im2m
4m 8m
SONY D10
B&K Pulse
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LAmax
[dB] [dB] [dB] [dB] [dB]

10 923 0.90 92.4 934 90.7

10 89.1 121 89.2 913 86.5

10 76.1 2.45 76.7 80.1 715

10 76.2 2.00 76.5 788 72.2

+ 5 89.0 1.28 892 90.1 872
+ 5 85.9 1.63 86.1 88.2 841
+ 5 759 2.20 764 793 739
+ 5 775 1.40 776 79.2 758

L aeg

[dB] [dB] [dB] [dB] | [dB] |

10 89.1 0.69 89.1 90.3 88.1

10 854 1.14 85.5 87.2 83.5

10 70.6 244 713 753 66.7

10 719 1.88 72.3 738 67.8

+ 5 85.0 1.56 853 86.4 831
+ 5 82.8 1.42 829 845 814
+ 5 708 2.35 714 745 683
+ 5 734 1.02 735 744 721

16 20dB
2 4dB
2 3dB
5 8dB
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y=-alog,, x+b

X [m] vy [dB]
L Amax
[y=alog;o(x)+b] [03a]

10 y=-15.410g,4(x)+92.5 4.6

10 y=-15.2l0g,¢(x)+89.4 4.6

10 y=-16.010g,¢(x)+76.4 48

10 y=-15.910g,¢(x)+76.7 438

+ 5 y=-16.710g;4(x)+89.2 5.0
+ 5 y=-14.8l0g,4(x)+86.3 4.4
+ 5 y=-18.8l0g,¢(x)+76.1 5.6
+ 5 y=-18.710g;4(X)+78.1 5.6

L aeq
[y=alog;o(x)+b] [03a]

10 y=-15.6l0g,4(x)+89.3 4.7

10 y=-14.910g,4(x)+85.8 45

10 y=-15.510g,¢(x)+71.0 4.7

10 y=-15.8100,¢(x)+72.4 48

+ 5 y=-18.910g,¢(x)+85.7 5.7
+ 5 y=-17.4l0g,4(x)+83.2 5.2
+ 5 y=-19.1l0g,¢(x)+71.0 57
+ 5 y=-18.710g;(X)+74.1 5.6
0.3a=6

03 a 4.6 5.7
a=20 0.3a=6
a=10 0.3
a=3 a=20 0.3a=6
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2 kHz

THz]

[Hz] 1] 2[ 3[ 4] 5[ e[ 7] 8] of 10}

10 500 500 1k} 500|500 | 5001 500} 500} 500 | 500 ] 500

10 2k 2K| 2k 2k 2K] 2k 2 2k 2 2k 2K

10 2k 2K| 2k 2k 2K] 2k 2k] 2k 2 2K] 2K]

10 1k, 2k 1 2k 1k 2K| 1Kk| 2 1k 2 1Kk| 2K]
+ 5 500 500500} 500|500 ]::500
+ 5 2k 2 2k 2k 2K] 2K|
+ 5 2k 2 2k 2K 2K| 2q
+ 5 2k 2K| 1k 2k 2K] 2k|

LAeq
[Hz]

[Hz] 1 2 3 4 5 6 7 8 o 10]

10 500 500 1k}::500 1k]:500 500} 500|500 1K 500 |

10 2k 2 2 2 2K] 2K| 2K] 2k 2k 2K] K|

10 2k 2 2| 2 2K 2K[ - 2K| 2k 2K] 2k 2K

10 1k 1 1 1 2K| k 1k 1k 2K| 1K| 1K]
+ 5 500 500:f::500:}::500:}::500 }::500
+ 5 2k 2 2Kk| 2 2 2K
+ 5 2k 2 2k 2 2 2K|
+ 5 2k 2 w2 2 2k

500 Hz
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[ ]

[m/s]

5:40 5:50

30 24

00 03

550 6:30

2.2

00 0.2
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11

DAT

FAST

5m
10m

VTR

VTR

VTR
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NL-06 RION

20Hz 8kHz
D-10 SONY
LR-04 RION

2m
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VTR
FAST
(DAT) (NL-06)
FAST
A
(L)
(DAT)
(DAT) (NL-06)
(Lama) FAST
(DAT) (NL-06)
(Lae) FAST
(DAT) (NL-06)
(Lama) FAST
VTR
NL-06 RION
20Hz 8kHz
D-10 SONY
LR-04 RION
13 B&K 2133 B&K
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DAT

VTR
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[dB] [dB]
[dB] [dB] [dB] [dB] [dB] [dB]
14 91.9 7.0 100.6 | 73.9
11 84.2 2.4 875 | 809
7 89.2 3.0 953 | 86.1
33 87.2 6.4 982 | 711
31 85.6 4.2 95.3 | 80.0
16 86.1 3.0 90.4 | 827
I—A,Fmax
[dB] [dB] | [dB] [dB]
14 98.9 6.6 108.7 835
11 88.8 4.8 97.9 82.6
7 95.0 6.1 104.2 88.5
33 91.6 7.3 105.9 77.8
31 90.0 4.4 102.0 815
16 855 4.4 94.6 78.4




142(121) 2(1) 10(7) 4(4) 0(0) 13(13) 24(24)
151(66) 32(13) 48(24) 8(3) 27(11) 6(3) 14(5)
29(16) 0(0) 4(2) 0(0) 0(0) 0(0) 4(2)

322(203) 34(14) 62(33) 12(7) 27(11) 19(16) 42(31)
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